e _—
M
&
L\
(@
N
7
M-E%—_
e
~
(@
\:
—
\
F
N
(@
\Z
=7,




01

UNIT:MM

18
)
4
i
a
.
M6*35
W
A4
)
4 )
2

30%11%2

M2. 5*%10

3

M4*12

M6*14 M3. 5*16 $13.5%9.5 34*18%*10 250%225 250%*225
@ ® ® ® @ ® ® ®
6 8 6

=

L, -
> "'.'..-_r
—-r,
- T = =y —_:_'.
- —
=
p—
= ‘-__._-_.
U =

M4*12 713%25%1. 4 M3*25 M4*35 M6*12 G250 10%20  M4*20 26*%9%17

Stand:04.2024



BOLT INSTALLATION AS BELOW:

Stand:04.2024

E BOLT

@ CONNECTING PIECE

Adjust connecting piece direction if
condition as illustrated

Insert bolt when connecting piece
under such condition

02



03 Stand:04.2024



04

Stand:04.2024






Stand:04.2024

23.

06



